Untitled.notebook October 21, 2016

MUST
Criteria for the Ambiguous Case...
M EMORIZE o Must be given SSA

» Given angle is acute b

THESE || «= a

*** If ALL 3 criteria are met, then...

N OT ES CALCULATE THE ALTITUDE'A\ B

alt=bsin A

CASE 1: a < altitude; there is NO SOLUTION

IN O RD E R CASE 2: a = altitude; there is ONE SOLUTION [Right Triangle]
CASE 3: a >altitude; this is the 'AMBIGUOUS CASE'..TWO SOLUTIONS
TO KN OW 1) Acute Triangle (angle, 6, is found with Law of Sines)
2) Obtuse Triangle (angle is 180°- 8)
AMBIGUOUS

CASE
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/
EXAMPLE 1 Connecting the SSA situation to the number V4 S§ H
77 of possible triangles \/ﬁ(,w’ltt &,\51.(

Given Each 584 situation for A ABC, determine how many triangles are \/ ’ b
possible. _ SIn
a) ) A=30%ag=4m,and &= 12 m AA—3D°a—8m and #=12m a‘/;‘l’ ’Qb
A=30%a=6mandb=12m (d))2A4=30°%a=15m,and b= 12
> b ~> | ;t o

Cose | > Cf"aH- Cose L - Cise 32 >ul71'
@) fig $0ufron (‘0)/ jH/m)lz (Cfo?fo(mlwlolf\%

Solution
p
b=12 | | drew the beginning of a triangle with a 30° angle
th Ttorremommestememmeol and a 12 mside.
30" ! —
A -
| used the sine ratio to calculate the height of the
sin 30° = i B
12 ::
12 5in 30° = A | can use this height as a benchmark to decide on
6m=h side lengths opposite the 30° angle that will result

in zero, one, or two triangles.
.

a) LA=30%a=4m,and =12 m

o ,
- Since a < b and a < h, | knew that no triangles are
/ Tttt possible.

| used a compass to be certain. | set the compass tips to
represent 4 m. | placed one tip of the compass at the
No triangles are possible. open end of the 12 m side and swung the pencil

tip toward the other side. The pencil couldn’t reach

the base, so a 4 m side could not close the triangle.
) ZA=30°a=6m,and #= 12 m L

2m = N ! :
Since @ < b and a = h, there is only one possible
semssssssssssesssseoo oo NIRRT ANG (2

\LA compass arc intersects the base at only one point.

One triangle is possible.

o LA= mﬂ’ a=8m,and b= 12m Since @ < b and a = h, there are two possible
lzrn ceeeeecececceceoo| triangles.

30“ A compass arc intersects the base at two points.

Two trl:mglf:s are possible.

d) 2A4=30%a2=15m,and =12 m

1Zm 15m Since a = b, only one triangle is possible.
300 PEUPSICTN S RO S EOECETY S LT S

v A compass arc intersects the base at only one point.

One triangle is possible.
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Example 2:
Solve the triangle ABC ifa =10, b =12 and angle A = 72,

/SSH ¥
M acnfe ““7&
Voa<cb
A h- 125078
h=1l.¥
& v

o & I
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Example 3:

October 21, 2016

Given that A= 25°, a = 15, and b = 33. find the measure of angle B to
the nearest degree. If there are two answers, give both of them. If there

are no possible answers, write “none”.

33 NG
/
1/;5 5\ g

‘%SMB %S—M
/\T

6;3351n'ﬁ253u’15
S\l\ L GRATEALTSE
sin 1 ARs

6  BE.39T4E161

*(

[V 55
V Gunk w\7
vV ogéh
a/% = 3351;\250
GI7L = /3¢q
o VS alt
5 > (3.1

| ’iﬂﬂ\\)\vx\'\o.\ \“‘(\0‘\5
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HOMEWORK...

- Worksheet - Ambiguous Case.pdf

Do questions #1, 2 & 4

Criteria for the Ambiguous Case...
e Must be given SSA

« Given angle is acute

. a<b b a
*** If ALL 3 criteria are met, then...

CALCULATE THE ALTITUDE

alt=bsin A | A B
CASE 1: a < altitude; there is NO SOLUTION

CASE 2: a = altitude; there is ONE SOLUTION [Right Triangle]

CASE 3: a >altitude; this is the 'AMBIGUOUS CASE'.. TWO SOLUTIONS
1) Acute Triangle (angle, 8, is found with Law of Sines)
2) Obtuse Triangle (angle is 180°- 6)

October 21, 2016

MEMORIZE...QUIZ MONDAY!



Attachments

Q Worksheet - Ambiguous Case.pdf



~THE A 3T Guoss C/]gg(uqu

0./

Lvi[l\/fs)

. -
A Express lengths to one decimal place and angles (0 the nearest degree.
| For each AABC, decide what type of solution you will obtain for £B. |
(a) a=45.b=715, LA=176° "
(b) ZA=48°a=26b= 22 i
(c) b=576,a =730, LA =31°
(d) a=156,b=254, LA =69° .
R 'S n
} wgmns%zg:‘g&!"g
4 ‘:‘,‘°“;’°’\ucogv'./_’.33m
. 5 Is each sketch reasonable? Draw a better sketch for any that are unreasonable. 288% I: PO TEE
B o E.°% 0D g
24 D & B B e R..ZE8 8
9 @ A i A =) AENNS W REEES
p Sot Shos*ar 873
’ 7 - P B LR A R
ol 10 ENRT ) PTINg =%
5 3 13 3§.°v_'a_vo~w9_3:~
K P o2 3~ NRPEn &
g =g (SR -2 00 ©
2 --n"8.°\l>2‘-ﬂg."‘g
i ° TR =03 ool =
3 AL 3 F of”ggg;mu;aga'
c d E FweznN 23S«
} ;_.°':’"|1'u"‘3=’3
3 R TR e N=3T 8 —
4 gw by gl Bait -5
3 If0°§AélSO{find(wovaluesforAforeach. ;;-ﬁ W 8§'__ g R E
; oy BS " ggas
(b) sinA= 0.3907 5‘ - £
O

(a) sinA =0.7431

(c) sinA=0.7169 (d) sinA= 0.8686

4  For each triangle, find the measure, OF possible measures. of angle 6.
60.5 Q

5 Solve each AABC.

(a) a=655b=184, ZA=51°
(b) p=15,¢=554£B=175°

(c) b=163,c= 18.2, 4B =54°

(d) b=255.¢c= 22.5, £C=62°

20.0 km apart. A ranger at station Q sees a

6 Two forest fire stations, P and Q, are
the line PQ and the line from P to the

fire 15.0 km away. If the angle between
fire is 21°, find how far station P is from the fire.

d A, swims 9.2 km to Island B and then

7 A marathon swimmer starts at Islan
. how far does she have to swim back to

8.6 km to Island C. If Z/BAC =52°
Island A?
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